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6.2 Law of Sines Name

Solve each triangle for the indicated side to the nearest tenth.

1. msA =41°, msB =57%,c=52;find b

2. msA =35°, msB =56° a=>51; findc

Solve each triangle PQR. Give angles to the nearest degree and sides to the nearest tenth.

3. p=24,msQ=51°, msR = 38°

4. q =48, m£P = 63°, m«R = 51°

5. q =75 m<P = 42°, m<R = 20°

Solve the following word problem. Give sides to the nearest tenth.

6. From two points P and Q that are 140 ft apart, the lines of sight to a flagpole across a river make angles of
79° and 58° respectively, with the line joining P and Q. What are the distances from P and Q to the flagpole?

79°

Q 38 X’:j
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PreCalculus Unit 6 Law of Sines and Cosines

6.3 The Ambiguous Case (Law of Sines Day 2) Name

Determine how many solutions (one, two, or none) to the triangle exist.

1. £4=113°,a=49,b=54

2, ZL4=37",a=49,b=54

3. £4=110°,a=76,b=85

4. ZA=40°,a=75b=85

Use the Law of Sines to find the indicated side x or the angle 8.

Solve the triangle using the Law of Sines. When either 1 or 2 solutions exist, solve the triangle or
triangles. Round all lengths to the nearest tenth, and all angles to the nearest degree.

6. a=28,b=15,/4=110° 8. b=25,c=30,/8=25

7. a=20,c=45/44=125 9. a=350,6=100,£4=50°
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